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Q1. 
L[ 𝑡

5

2 ]   is 

Option A: 3

4𝑠
3
2

       

Option B: 3√𝜋

4𝑠
5
2

       

Option C: 5√𝜋

4𝑠
5
2

      

Option D: 15√𝜋

8𝑠
7
2

        

  

Q2. L [ f(t) ] = 
1

𝑠√𝑠+1
  then  L [ 𝑒−2𝑡𝑓(𝑡)]  is 

Option A:  
1

(𝑠+2)√𝑠+3
                   

Option B:  
1

(𝑠+2)√𝑠+2
             

Option C: 1

(𝑠−2)√𝑠−1
                   

Option D:  
1

(𝑠−1)√𝑠
            

  

Q3.  L [ t sint ]   is 

Option A:  
2

(𝑠2+12)2
            

Option B: 2𝑠

  (𝑠2+12)2
          

Option C:  
−2

(𝑠2+12)2
                         

Option D:   
2𝑠2

(𝑠2+12)2
                    

  



Q4.  L[ ∫ 𝑐𝑜𝑠ℎ4𝑥 𝑑𝑥 ]
𝑡

0
     is 

Option A:  
1

(𝑠2+16 )
                           

Option B:  
1

(𝑠2−16 )
                        

Option C:  
1

𝑠
  

1

(𝑠2+16 )
                         

Option D:  
1

𝑠
  

1

(𝑠2−16 )
      

  

Q5.   L [ 
cos 𝑡

𝑡
 ]              

Option A:  exists                                      

Option B:  is zero 

Option C:  doesn’t exist                           

Option D:  is 1             

  

Q6. Find 𝐿−1 [
𝑠−3

(𝑠−3)2+9
] 

Option A: 𝑒3𝑡𝑐𝑜𝑠3𝑡      

Option B: 𝑒−3𝑡𝑠𝑖𝑛3𝑡     

Option C: 𝑒3𝑡𝑠𝑖𝑛3𝑡       

Option D: 𝑒−3𝑡𝑐𝑜𝑠3𝑡 

  

Q7. Find 𝐿−1 [
𝑠+2

(𝑠+2)2−16
] 

Option A: 𝑒2𝑡𝑐𝑜𝑠ℎ4𝑡      

Option B:  𝑒−2𝑡𝑠𝑖𝑛ℎ4𝑡        

Option C:  𝑒−2𝑡𝑐𝑜𝑠ℎ4𝑡          

Option D:  𝑒2𝑡𝑠𝑖𝑛ℎ4𝑡 

  

Q8. Find 𝐿−1 [
2

(𝑠−1)2+4
] 

Option A:  𝑒𝑡𝑠𝑖𝑛2𝑡       

Option B:  𝑒𝑡𝑐𝑜𝑠2𝑡     

Option C:  𝑒−𝑡𝑠𝑖𝑛2𝑡        

Option D:  𝑒−𝑡𝑐𝑜𝑠2𝑡 

  

Q9. 
Find 𝐿−1 [

1

(𝑠+4)
3

2⁄
] 



Option A: 
 2𝑒4𝑡√

𝜋

𝑡
     

Option B: 
 𝑒−4𝑡√

𝜋

𝑡
        

Option C: 
 𝑒4𝑡√

𝑡

𝜋
         

Option D: 
 2𝑒−4𝑡√

𝑡

𝜋
 

  

Q10. Find 𝐿−1 [
1

3𝑠−4
] 

Option A:  
4

3
𝑒

4

3
𝑡
      

Option B: 
 
1

3
𝑒

4

3
𝑡
       

Option C: 
 
1

3
𝑒−

4

3
𝑡
         

Option D:   
4

3
𝑒−

4

3
𝑡
 

  

Q11.  𝑍(𝑎𝑛)  is 

Option A: 𝑧

𝑧 − 𝑎
 

Option B: lo g (
𝑧

𝑧 − 𝑎
) 

Option C: 𝑎

𝑎 − 𝑧
 

Option D: 𝑛

𝑧 − 𝑎
 

  

Q12. The function 𝑓(𝑧) = 𝑒𝑧 is  

Option A: Analytic 

Option B: Harmonic 

Option C: Not Analytic 

Option D:  Not Harmonic 

  

Q13. The imaginary part of 𝑓(𝑧) = 𝑐𝑜𝑠𝑧 is 

Option A: −𝑠𝑖𝑛𝑥 𝑐𝑜𝑠ℎ𝑦 

Option B:  𝑐𝑜𝑠ℎ𝑥 𝑐𝑜𝑠𝑦 

Option C:  −𝑠𝑖𝑛𝑥 𝑠𝑖𝑛ℎ𝑦 

Option D:  𝑠𝑖𝑛𝑥 𝑠𝑖𝑛ℎ𝑦 



  

Q14. The analytic function corresponding to real part 𝑒−𝑥𝑠𝑖𝑛𝑦 is  

Option A: 𝑓(𝑧) = 𝑒𝑧 + 𝑐 

Option B: 𝑓(𝑧) = 𝑒−𝑧 + 𝑐 

Option C:  𝑓(𝑧) = 𝑖𝑒𝑧 + 𝑐 

Option D:  𝑓(𝑧) = 𝑖𝑒−𝑧 + 𝑐 

  

Q15. The analytic function corresponding to imaginary part  3𝑥2𝑦 − 𝑦3is  

Option A: 𝑓(𝑧) = 𝑧2 + 𝑐 

Option B: 𝑓(𝑧) = 𝑧3 + 𝑐 

Option C:  𝑓(𝑧) = −𝑧2 + 𝑐 

Option D:  𝑓(𝑧) = −𝑧3 + 𝑐 

  

Q16.  At a point x=c of continuity of f(x) the sum of the Fourier series 

  
𝑎0

2
+ ∑ 𝑎𝑛 cos 𝑛𝑥 + ∑ 𝑏𝑛𝑠𝑖𝑛𝑛𝑥∞

𝑛=1  ∞
𝑛=1  is 

Option A:  f(x) 

Option B:  f(c) 

Option C:  f(0) 

Option D:  
𝑓(0−)+𝑓(0+)

2
 

  

Q17. Which of these is not Dirichlet’s conditions for a function f(x) to be 

expanded in a Fourier series in the interval (0,2L) 

Option A: f(x) may have discontinuities, finite in number 

Option B:  f(x) may have maxima and minima, finite in number 

Option C: f(x) is single valued  

Option D: f(x) is always an even function 

  

Q18.  If f(x) is an odd function, then the Fourier series for f(x) is a  

Option A:  Cosine series 

Option B:  Sine series 

Option C: Contains both sine series and cosine series 

Option D: neither sine series nor cosine series 

  

Q19. 𝑇ℎ𝑒 𝑓𝑜𝑢𝑟𝑖𝑒𝑟 𝑠𝑒𝑟𝑖𝑒𝑠 𝑓𝑜𝑟 𝑓(𝑥) = |𝑠𝑖𝑛𝑥|  in [− 𝜋,  𝜋 ] 
Option A: Will have sine terms  

Option B:  Will have cosine terms 

Option C:  Is zero 



Option D:  Doesn’t exist 

  

Q20. If f(x) = 𝑥2 in [− 𝜋,  𝜋 ] then what is the value of the first term in the 

series  
𝑎0

2
+ ∑ 𝑎𝑛 cos 𝑛𝑥 + ∑ 𝑏𝑛𝑠𝑖𝑛𝑛𝑥∞

𝑛=1  ∞
𝑛=1  

Option A:  
𝜋2

3
 

Option B:  
𝜋2

6
 

Option C: 𝜋2

2
 

Option D: 𝜋

3
 

  

Q21. If  kyjxyixF 22 ++=     then    Fdiv   is   

Option A: x 

Option B: 2x 

Option C: 3x 

Option D: 4x 

  

Q22. Find grad( )  if 
222 yx +=     

Option A: x i – y j – z k 

Option B: 4x i +2 y j  

Option C: x i + y j + z k 

Option D: x i – z k 

  

Q23. If  0=Fdiv   then F  is 

Option A: Solenoidal 

Option B: Irrotational 

Option C: Convergent 

Option D: Constant 

  

Q24. If  kyjxyiF 2+−=    then   Fcurl  is 

Option A: (2y - x) i + y j – 2y k 

Option B: x i + y j + z k 

Option C: z i – y k 

Option D: i + 3 j + 2 k 

  



Q25. A vector  F  is Irrotational if Fcurl is  

Option A: 1 

Option B: 0 

Option C: 2 

Option D: 4 

  

 


